Enkopings BS
Dagbridge 2019-08-15

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.
Plac Par Poéng % Namn MID Klubb
1 5 235 69.94 Lillemor Zander - Marguerithe Lundberg 21772 50146 Enkdpings BS
2 1 209 62.20 Britta Larsson - Margot Wallin 10000 25875 Enkdpings BS
3 12 196 58.33 Herbert Laubner - Kalle Wahlsten 59907 59121 PRO Enkoping Bridge - Enkopings BS
4 10 192 57.14  Kerstin Séderstrém - Margareta Hedlund 52982 80593 Enkdpings BS
5 3 179 53.27 Bo Holm - Hans-Erik Moberg 32551 90693 Enkopings BS
6 14 169 50.30 Sture Wiman - Barbro Skutnabba 80223 51971 Enkdpings BS
7 15 166 49.40 Brittmarie Frolén - Ylva Johansson 50144 11744 Enkdpings BS
8 13 164 48.81 Lennart Gabrielsson - Harry Olsson 25874 44354 Enkopings BS
9 8 160 47.62 Ulla Lindgren - Ragni Kaiheden 41501 57882 Enkdpings BS
10 2 156 46.43 Anne Marie Tapper - Ada Engstrém 61619 21632 Enkopings BS - EPBK
11 6 155 46.13 Birgitta Pettersson - Ingrid Vagermark 36067 32219 Enkopings BS
12 4 154 45.83 Ulla Dyberg-Case - Kristina Montin 33001 89941 Enkdpings BS
13 9 151 44.94  Ulla Johansson - Eva Angstrém-Birgersson 36068 46879 Enkopings BS
13 16 151 44,94 Ragnhild Eriksson - Anna Maria Berglinn 84162 48450 Enkopings BS
15 7 142 42.26  Barbro Sandberg - Margareta Ivedal 51979 89994 Enkopings BS
16 11 109 32.44  Ulla-Britt Cederberg - Berit Nystrém 89976 41147 Enkdpings BS
1 4 K753 2 4532 3 4 KD8632
Nord v KKn5 Ost v 9842 Syd v 742
Ingen 4632 NS ¢ 762 ov + 10
K42 *K64 #K106
D92 & EKn84 4 KD98 410 4 E9 4 Kn1075
v102 vD7643 vK3 v EDKn107 vKn96 vEKD105
¢ K754 ¢ EKnl0 ¢EKn10 K8 +K9862 ¢D3
&#E875 &6 #EDKNn10 #97532 #ED7  #52
4106 4« EKn764 a4
v E98 v 65 v 83
+ D98 ¢ D9543 ¢ EKn754
#DKn1093 »8 #Kn9843
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 7 3v0-2 &9 100 140 00| 8 11 3v O+1 &8 -170 140 0.0| 7 15 4v O-3 44 300 14.0 0.0
9 4 240-1 49 50 100 40(10 2 3NV= *4 400 120 20| 1 16 4v O-1 44 100 8.0 6.0
10 2 24 0-1 49 50 100 40| 9 4 3NV+1l &6 430 100 40| 4 6 4v O-1 44 100 8.0 6.0
16 12 2v O-1 49 50 100 4014 7 4vV+1 99 -450 80 60| 9 12 4v O-1 4 100 8.0 6.0
13 1 INV= 46 -90 6.0 80| 3 5 3NV+2 &5 -460 40 10.0[(10 5 4vO-1 #4 100 8.0 6.0
8 11 1v O+2 &3 -140 40 10.0(15 6 3NV+2 v4 -460 40 10.0(13 2 4v0O-1 +A 100 8.0 6.0
3 5 24N-3 &6 -150 1.0 13.0|16 12 5NV = *4 -460 4.0 10.0(14 8 3vO= a4 -140 2.0 120
15 6 24 N-3 44 -150 10 13.0|13 1 5vO+1 &8 -480 0.0 140(11 3 4v 0= ¢+4 -620 0.0 14.0
4 48 5 41098742 6 4109872
Vast vD764 Nord vKD Ost v6
Alla + EKD1064 NS 4976 ov ¢ K43
+D9 *K6 #8752
4763 « ED1092 & Kn65 « EKD3 4 KDKn63 #E4
vKKn5 vE82 vE1076 v985 vK v DKn9852
¢Kn95 ¢2 +5 + EKn82 ¢ Kn72 + D10
#Kn642 #EK103 #DKn985 #72 #KD106  #EKn9
& KKn54 a- a5
v 1093 v Kn432 vE10743
+873 + KD1043 + E9865
#875 &#E1043 *43
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 5 44 0-2 +38 200 130 10| 5 7 3aV-2 vK 100 13.0 10| 5 7 4v0-3 45 300 14.0 0.0
13 2 2v V-2 ¢ A 200 130 10|12 4 3vV-2 +9 100 13.0 10(12 4 4v O0-2 +A 200 120 2.0
11 3 44 0-1 3 100 100 40|11 6 34 0-1 3 50 100 4.0(10 1 4a4V-1 v6 100 9.0 50
1 16 24 O+1 +38 -140 6.0 80| 8 15 Pass 80 6.0(13 3 440-1 v6 100 9.0 50
7 15 34 O= +8 -140 6.0 80| 9 14 14 O= v2 -80 6.0 80| 9 14 3#40= +5 -110 50 9.0
9 12 34 0= +8 -140 6.0 80(16 2 24 N-1 &7 -100 40 100|116 2 2vO= a5 -110 50 9.0
14 8 3v N-3 #A -300 20 120(10 1 14 N-2 v9 -200 2.0 120 8 15 44 V= a2 -620 2.0 120
4 6 5¢DN-2 &A -500 0.0 140(13 3 3NO+2 T -460 0.0 140(11 6 3NV+1l T -630 0.0 14.0
7 4875 8 # EK765 9 « Kn97
Syd v D952 Vast v32 Nord v 8654
Alla ¢ E72 Ingen ¢ Kn109 ov +32
#E53 #Kn32 #7643
4 DKn106 4 K43 4Knl108432 4D «D4 & E532
v 873 v Kn104 v 108 v EKD64 vE73 v DKn102
+D1085 ¢ Kn9%4 ¢ 64 + ED875 +KD85 ¢ E764
«D4 #Kn762 *E76 *K9 #10952 &8
« E92 49 + K1086
v EK6 vKn975 vK9
¢ K63 ¢ K32 + Kn109
+K1098 #D10854 #EKDKn
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 16 3NS+1 5 630 120 20|10 14 24 0-1 49 50 110 30|14 11 1a4S-1 +5 -50 14.0 0.0
12 7 3NS+1 5 630 120 20|12 7 4v0O-1 49 50 11.0 30| 2 6 laV= a4 -70 120 2.0
15 9 3NS+1 5 630 120 20|13 4 3NO-1 &5 50 11.0 30(12 3 34 O= *A -110 9.0 50
1 5 3NS= +Q 600 70 70(15 9 3NO-1 7 50 11.0 3.0(15 10 3¢ O= *A -110 9.0 50
6 8 3NS= 46 600 70 70| 3 16 1vO= 49 -80 6.0 80| 7 9 2¢ O+2 #A -130 50 9.0
10 14 2NS+2 T 180 40 100 6 8 2¢ O+1 &9 -110 3.0 11.0(13 5 3¢ O+1 A -130 50 9.0
13 4 INS+2 5 150 20 12011 2 34 O= *4 -110 3.0 110 1 8 2¢vyN-3 ¢5 -150 1.0 13.0
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11 2 3NS-1 +5 -100 00 140 1 5 4v 0= 49 -420 00 140(|16 4 2vN-3 +A -150 1.0 13.0
10 #7652 11 & EKKn5 12 « D653
Ost v E10652 Syd v K76 Vast v K852
Alla ¢+ E8 Ingen +E NS + D103
£63 #K10764 *K9
« D94 « EKKn108 442 493 41092 4 EKn74
v KKn4 v 9873 vE105 v Kn93 vD103 vKn74
¢+ D104 5 ¢ DKn763 ¢ K982 ¢ Kn985 ¢ E72
#Kn1052 #KD4 #EKn5 #9832 »D83 *E72
3 «D10876 K8
vD v D842 vE96
¢ KKn97632 ¢ 1054 ¢ K64
«E987 «D #Kn10654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 10 44 O-3 vQ 300 140 00|13 6 44 S+2 &5 480 140 00| 5 16 14 O-3 &J 150 14.0 0.0
2 6 44 0-1 #A 100 100 40| 1 4 44 S+1 A 450 80 60| 3 7 2vS= ¢A 110 120 20
14 11 34 O-1 vQ 100 100 40| 2 9 44 S+1 #A 450 80 60| 1 4 140-2 ©vA 100 9.0 50
16 4 340-1 vQ 100 100 40| 3 7 44S+1 vA 450 8.0 6.0[11 15 2NO-2 +4 100 9.0 50
1 8 4¢S-1 «Q -100 6.0 80| 5 16 44 S+1 YA 450 80 60| 2 9 140-1 #4 50 50 9.0
7 9 340= *A -140 3.0 11.0(14 12 44 S+1 #A 450 80 60|13 6 140-1 #4 50 50 9.0
13 5 340= +J -140 3.0 11.0( 8 10 24 N+3 +¢K 200 20 120 8 10 3vy N-1 &2 -100 2.0 120
12 3 54 S-3 «Q -300 00 14011 15 24 N= ¢+ K 90 00 14014 12 2NN-2 &4 -200 0.0 14.0
13 « D63 14 #7643 15 « EKKn9652
Nord v 985 Ost v K98 Syd v EKn10
Alla + 108 Ingen ¢ E85 NS + K5
#EDKn43 #1072 8
4K8752 #Knl09 4K985 aKn 41073 a4
v 107 v Kn62 v4 v Kn105 v6 v D9875432
¢ D96532 ¢+ K ¢1074 ¢ KKn963 ¢ EKn973 ¢ D1042
»- #K109865 #EKD93 #Kn864 #10954 -
~E4 «ED102 «D8
v EKD43 vED7632 vK
¢ EKn74 ¢ D2 + 86
*72 &5 #EKDKN7632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 14 4v S+1 7 650 140 00| 4 8 4vS= *A 420 140 00| 5 9 7NN= v9 2220 140 0.0
2 5 3NS+1 a7 630 120 20| 1 14 54V-3 vK 150 120 20| 3 6 6NN= ¢2 1440 120 20
12 15 3NS= *3 600 100 40| 9 11 2¢S+1 #Q 140 90 50| 4 11 44 N+2 8 680 9.0 50
4 8 2vS+2 a2 170 50 90|13 7 3vS= *A 140 90 50|10 12 54 N+1 +Q 680 9.0 50
9 11 2v S+2 a2 170 50 90|16 6 54DV-1 +A 100 6.0 80| 7 16 6vy O-5 A 250 6.0 8.0
13 7 2v S+2 a7 170 50 90| 3 10 4vS-1 #A -50 30 110 2 14 5v0-3 &2 150 4.0 10.0
16 6 2v S+2 42 170 50 90|12 15 4v S-1 #A -50 30 110|13 8 6#S-1 v6 -100 1.0 13.0
3 10 5NS-2 a7 -200 0.0 140 2 5 440= a2 -130 0.0 140(15 1 6NN-1 +3 -100 1.0 13.0
16 «10 17 & KKn86 18 #7643
Vast vE108762 Nord v- Ost vKD10
ov +EG6 Ingen ¢ EKN963 NS *4
#D865 #K1074 #E10765
«E3 & KD95 «ED54 «1073 4KDKn9 8
vKn954 ¢D vE109743 vKD62 v74 v Kn9532
¢ DKn85 ¢ 109732 +D +1082 ¢D1072 #KKn3
K104  #EKn9 *92 #EKn8 «D84 #K932
 Kn87642 92 «E1052
vK3 v Kn85 v E86
¢+ K4 ¢ K754 + E9865
»732 #D653 *Kn
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 11 3v N= *A 140 140 00|14 3 5vV-2 +A 100 140 0013 9 24 S+2 w7 170 140 0.0
3 6 2¢vN-1 2 50 11.0 3.0|15 2 4v V-1 3 50 120 20|15 2 INN+2 v2 150 11.0 3.0
5 9 3vyN-1 «9 -50 11.0 3.0 4 7 5¢N-1 ©vA -50 80 60|16 8 2NN+1 v2 150 11.0 3.0
13 8 24 S-2 &4 -100 80 60| 5 12 5¢ N-1 #A -50 80 60| 5 12 34 N= &9 140 80 6.0
7 16 3¢ V= vA -110 50 90|16 8 5¢ N-1 vK -50 80 60| 4 7 2¢S-1 v7 -100 4.0 10.0
15 1 2¢ V41 v2 -110 50 90| 6 10 5¢ N-3 vK -150 3.0 110 6 10 2¢ S-1 4K -100 4.0 10.0
2 14 44 O= a2 -130 10 13.0|11 1 4¢ N-3 vK -150 30 11014 3 3¢ S-1 v7 -100 4.0 10.0
10 12 3¢ V+1 T -130 10 13.0|13 9 4v V= ¢ A -420 00 14011 1 24N-2 8 -200 0.0 14.0
19 & 852 20 « E9854 21 # 10853
Syd v 9873 Vast v- Nord vE84
oV ¢ Kn6 Alla ¢32 NS ¢ 87
#KD105 #EK10972 #EKn109
« K6 4 EKn9743 4 K3 D762 4 K4 4 Kn9762
vEKDKn64 v2 vDKn987  vK1043 vD762 vK95
+ E1053 ¢ 9842 ¢ EDKNn105 ¢ K76 4964 ¢ DKnl0
*2 »64 &3 »86 #8753 #D6
D10 «Knl0 «ED
v 105 v E652 vKn103
¢ KD7 +984 ¢ EK532
#EKn9873 #DKn54 *K42
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
12 2 3v V-1 &K 100 140 00| 3 15 54S= vQ 600 140 00| 7 2 3NS= v2 600 140 0.0
6 1 3vVs= &K -140 100 40| 5 8 4v V-1 #A 100 120 20|13 11 INN+3 a7 180 120 20
7 11 3v V= 5 -140 100 4.0| 9 16 54 N-1 K -100 9.0 50(16 10 INN+1 &2 120 10.0 4.0
13 10 3v V= &K -140 100 40|14 4 34 N-1 ¢K -100 90 50| 1 3 2¢S+1 «K 110 80 6.0
14 4 5#S-3 vA -150 60 80| 6 1 3vV= 2 -140 40 100( 4 15 2¢ S-1 &5 -100 3.0 11.0
3 15 4v V= *K -620 30 110 7 11 3vO= *Q -140 40 10.0| 5 14 3NS-1 v6 -100 3.0 110
5 8 4v V= +J -620 3.0 11.0|13 10 2¢v V+1 &K -140 40 100 6 9 3NS-1 v2 -100 3.0 11.0
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9 16 4v V+2 &5 -680 12 2 4vDV= A -790 0.0 8 12 3NS-1 v2 -100 3.0
# EKn5432 23 » 106 « K10
v KD52 Syd v K98 vKn9874
¢+ E10 Alla + K862 +82
*2 #E983 #Kn743
«+KD109 46 « K87 «E92 #9762
v 94 v E1086 vEKn653 vD4 v K1063
¢+ D5 ¢ KKn72 ¢ EKn 4109543 ¢ EK9654 ¢ Kn107
#Kn10943 #EK86 *Kn74 *KD2 *D6
« 87 # DKn543 « EDKNn53
vKn73 v 1072 vES
+ 98643 ¢+ D7 +D3
«D75 #1065 #E1052
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 14 54DV -2 &A 500 140 00| 2 4 2vV-= T -110 140 0.0| 7 10 2¢ V-1 K 50 11.0 3.0
4 15 24DN= A 470 120 20| 6 14 INO+1 &3 -120 120 20| 8 3 4¢ V-1 &K 50 110 3.0
1 3 2v0O-1 a8 100 100 40| 7 10 2¢ V+1 #A -140 100 4.0|11 16 3¢ V-1 «K 50 11.0 3.0
6 9 34S-1 #A -50 70 70|11 16 2NO+1 3 -150 70 7.0(13 12 3¢ V-1 &K 50 11.0 3.0
13 11 2v N-1 46 -50 70 70|13 12 INO+2 ] -150 70 70| 2 4 24S-1 vQ -50 4.0 10.0
7 2 34N-2 &2 -100 40 100 9 1 2NV+3 49 -210 40 100( 6 14 34 S-1 +A -50 4.0 10.0
8 12 3#0O+1 48 -130 10 13.0|15 5 3NV= 3 -600 20 120 9 1 24 S-1 +A -50 4.0 10.0
16 10 44 0O= a7 -130 10 13.0| 8 3 3NV+2 48 -660 00 14015 5 44S-2 A -100 0.0 14.0
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